Queen’s College

CE Economics

Problem Set 8


Problem Set 8

Due Date: 3/5 (Mon)

Points to note:

1. Notes and problem set 7 answers could be downloaded from my homepage.

2. Do NOT copy homework.

Multiple Choice Questions

1. Which of the following are variable factors for a restaurant in the short run?

(1) premises


(2) waiters


(3)customers


(4)food

A. (1) and (2) only


B. (1) and (3) only


C. (2) and (4) only


D. (3) and (4) only

2. Mr. Chan runs a taxi company. Which of the following is most likely a fixed cost in the short run?

A. fuel cost


B. parking fee


C. business registration fee


D. depreciation cost

3. An optimum firm is one which

A. operates at the minimum long-run average cost

B. produces at the largest possible scale

C. enjoys the largest amount of profits

D. owns the most modern machines and equipment

4. The law of diminishing returns

A. applies to both short run and long run production

B. can be avoided by adding more variable factors

C. is based on the assumption of constant technology

D. is the same as diseconomies of scale

5. Which of the following factors does not tend to limit large-scale production?

A. the size of the market

B. the increasing complexity of the organisation

C. the rising costs of acquiring financial resources

D. the law of diminishing returns

6. Which of the following about economies of scale are correct?

(1) It applies in long run only

(2) It explains why average cost is lower when output increases

(3) When firms enjoy economies of scale, fixed cost can be reduced.

(4) When firms enjoy economies of scale, the output level is optimal

A. (1) and (2) only


B. (1) and (3) only


C. (2) and (4) only


D. (3) and (4) only

7. A producer increases all his input to double the output. He fines that the total production cost increases by 120%. This can be explained by

A. the law of supply


B. the law of diminishing marginal return

C. economies of scale

D. diseconomies of scale

Essay type questions

1. The table below shows the production of a firm

	Labour (units)
	Machinery(units)
	Average output of labour(units)

	4

5

6

7

8
	5

5

5

5

5
	20

22

25

28

31


State the law of diminishing marginal returns and explain whether the above data illustrate the law.















2. Explain why an incinerator (焚化爐) is a capital.

3. Given a fixed wage rate, explain why a decrease in the profits tax rate may reduce unemployment with the help of a diagram of the labour market. 

Answer key to problem set 8

1.
C
2. 
C
3. 
A
4. 
C
5. 
D
6. 
A
7.
D


8. 

	Labour (units)
	Machinery

(units)
	Average output of labour (units)
	Total output of labour (units)
	Marginal output of labour (units)

	4

5

6

7

8
	5

5

5

5

5
	20

22

25

28

31
	80

110

150

196

248
	-

30

40

46

52


The law of diminishing marginal return states that when variable factors are added successively to a fixed amount of fixed factors, other things being constant, the marginal product will eventually diminish. 

The above data does not illustrate the law. With increasing quantity of variable factors(labour) , holding the amount of fixed factor (machinery) constant, marginal product increases from 30 to 52. Since the marginal product does not diminish, the above data does not illustrate the law of diminishing marginal returns.

9. Capital refers to all man-made resources used for production. 

An incinerator is a man-made furnace for burning rubbish. It helps to provide our society a better environment, which is a production of service to all citizens. Hence it is a capital.

10.  










Diagram 1 labour market

It could be explained by an increase in demand for labours. Suppose the initial wage rate is W and the demand for labour is D1 in diagram 1. 

As the profits tax rate is decreased, firms would earn more as they have to pay fewer tax to the government than before. They would increse their output to maximize their earnings. 

The demand for labour would increase in turn as labour is a factor of production. In order to increase output, the demand for labour would also increase as a derived demand. Demand curve shifts rightward from D1 to D2. 

As the wage wage is kept constant, the surplus of labour (unemployment) would decrease from U0 to U1. 

4. 
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